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Read the ngen passage and answer the
questions that follow :

Innovative Textiles Pvt. Ltd., run by two
brothers Krishna and Rajan, is a Raipur
based Chattisghari Silk Garment export
company. It was set up-in 2001 by Krishna,
who has a deep knowledge of designing and
manufacturing silk garments. Rajan joined the
company in 2010 after completing his M.B.A.
Krishna was responsible for designing and
production of the garments and Rajan for.
sales and liaisoning with the foreign
importers. Personnel management, however,
was jointly looked after by them. Since the

" inception of the company, Krishna had

worked very hard to ensure its growth. He
rewarded his committed workers and had
even friendly relations with many such

- workers. However, he was intolerant to any

carelessness, demand for salary hike or
bonus demand; and would take no time in
firing such workers even if they happened to
be very expert and committed ones. Rajan,
on the contrary, would never befriend his
employees but would give them their due. He
would attentively listen to their suggestions,
demands and even criticism. He believes in
setting high goals for his employees and
getting them accomplished by rewarding and
motivating them.

In view of the increasing demand from the
importers, Rajan wanted to reemploy many
expert weavers fired by Krishna as to increase
production and ensure quality, but it was a
very tough task to convince Krishna. Though
Krishna somehow agreed to take them back,

“yet he could not digest the move. He would

often express his feelings by speaking
sarcastically, bumping his hand on table,
raising his eyebrows or getting sulk, which
gradually made the atmosphere quite tense
for the partners as well workers finally
resulting in poor production. Rajan starts

CGP =16 —-02:=
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pondering over whether to continue with
Krishna or to part with him, and set up a new
company. However, in view of Krishna’s
expertise in the field of garments as well as
his contribution to the company, Rajan
decides to take a chance and negotiate a deal
with Krishna. Accordingly, both of them
decide to have fifty percent share each and
Krishna is made in charge of designing and

~ quality control. For production and personnel

management they appoint a team of
managers led by Vivek, an experienced

‘M.B.A. Rajan confines himself to sales and

liaisoning. Krishna feels satisfied with the
deal, so does Rajan. The workers, under the -
leadership of Vivek, start working as a-
motivated and result oriented team. Why not
so, apart from a congenial atmosphere now
they have been assured performance cum
profit based incentive in addition to their

salary.

1. An emptoyer with good interpersonal
skilshas______ relations with
his employees.

a) Family

b) Very intimate
Vy)/Pr/ofessional

d) Unfriendly

e) None of the above

2. If you were Krishna, how would you
react to your employees’ carelessness
or salary/bonus hike ?

a) Fire them immediately
b) Overlook their carelessness and
welcome their demands
c) Take no action
\,d)/T ake any action after looking into
the matter with open mind
e) None of the above

CGP - 16 - 02
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4. aﬁ%ﬁaﬁﬁﬁawm'ﬂ?ﬂﬁa
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a) SEEIRE gfseaho |
b) srEETR 3w
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5. T o o o IR R % ST 6
AT ¢

6. ﬁmﬁﬁﬁqmwmw
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3. We can achieve work targets by
a) Motivation
b) Reward/punishment
c) Monitoring

vdﬁxll of the above

e) None of the above

4. Rajan’s habit of not befriending his
employees but giving them their due is -

4a) Professional approach
b) Unprofessional approach
c) Whimsical approach

d) Rude approach

é) None of the above

5. Which of the following does not fall
under interpersonal skills ?

a)' Non-verbal communication
~ b) Listening skills

c) Decision making

d) Problem solving

&) None of the above

6. Who of the following demonstrates *
excellent interpersonal skills ?

a) s a) Workers v

b) o b) Krishna

c) USH C) Rajam/

d) IWiEd gt Au of the above

e) I H IS & e) None of the above _
CGP-16-02= | -Page No. 6 ' Set-A
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7. Fififes wwoh # e e §

2. 110 117

32 |28 |23
35137 ?

a) 34

b) 36

c) 38

d) 40

e) 3 ¥ I3 &

8. TN UG # ol aNE o 1 A Tve i g3
g Rl AR A B, A e R g e
I M fam R 7 |

a) IW

b) ufeem

c) eferor

d) f&rr-afyem -
e) T 9 = T

9. Freferiaa A 3 gt wea

7. The missing number in the folloWing
tablg is g ‘
a° %
2#10‘17
32 Nos {23

35137 "7

- a) 34
b) 36

C) 38&)?/,;\
- d) 40
e) None of these ~

€
@’;)
8. The time by my watch is quarter pastA o S
twelve. If the hour hand points to the
east what is the direction opposite to
the minute hand ?

Wrth
b) Wegt
¢) South
d) South-West

e) None of these

9.  The missing number in the following

v : series is

1,2,4,9, , 64, 186 .
\ 1S ;
1,2,4,9,_25 64,186

IR %

b) 25 a) 27
b)25\////'

c) 23
)23

d) 21
d) 21

6) T ¥ T T e) None of these

CGP -16 - 02
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3R 9% T weE & 8 i, St Ragehl o
agrelt § Eieft 6 e Rl IE T T W@
et g & el § efveaw fmda R %
weE 6 ot S Ragehi o ugse R
wom 1 e

a) 1042 1.
b) 12 .
c) 13 .
d) 14 .

e) T | IS T

11. 5@, FR o W F wft T w H
o 1 QT fm s € o g I 125
Tote Tl o e T sran ®) feen @ A
e e S Y e §

a) 27
b) 54
c)-36
d) 8
e) T q w13

12, Y TEN 11 % 3ifHel ¥ 3T 318 o1 h
T, e e Tk % T 8, B

10. Aladder 10 mlongis placed in a street
and reaches a window 8 m high of a
house keeping the foot of the ladder in -
the same position, the ladder is turned
and reaches the window 6 m high on

~ an opposite house. The breadth of the
streetis

a) 1042 m
b) 12m
c) 13m
d) 14m
~e) None of these

11. Allthe six faces of a cube of edge Scm
"have been painted red and then it is cut

o into 125 unit cubes. The number of -

-

N . ! ; :
% cubes having colourless faces is

a) 27
a—

, &% b5
2/ ¢) 36
o

o O°

- e) None of these

12. With the data of Q. No. 11, the number
of unit cubes having only one face

coloured is

a) 27
a) 27

b) 54
b) 54

c) 36
, c) 36

d) 8.
e d) 8

6) ¥ 1 T e) None of these
CGP - 16 - 02 Set-A
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In an examination 80%

; ¥ 80% zeftear sisht o Swiol ,A 13 of the
13 Q%O‘JRET&TT& ?&06 hi % o }ri candidates passed in English, 70% in
A L0805 WAL X Maths but 10% failed in both these
3ol gU) e 144 Seefiga ¥ ST T subjects. If 144 candidates passed in
¥ il gu, & SefiEeERi < e we oft both these subjects, the total number
a) 420 .0 X s of candidates was
b) 240 AN a) 420
N N b) 240
) 402 WP
d) 204 U c) 402
£ & R e
e) None of these
14, Frafafes sgen ¥ qw wead 2 14. The missing numbers in the following
Laig g 17 “sequence 2,3,5,7, 4\, 3, 17 are
L t | RN, R — \
a) 9,13 \;;/9;3 Sy
b) 11, 13 Jr 11,13
c) 13,15 c) 13,15
d) 11,15 o d) 11,15
e) T ¥ g T e) None of these
15. ﬁqrg-f@am 15." The missing numb . in the following
sequence 1, 2, 3 1, ,9, 1,16, ___is
123149116,%@3’8@7% ey
a) 36 a) 36
b) 49 b) 49
c) 64 c) 64
d) 81 vdng
o) Tl & #ié 7 e) None of these
16. et sﬁaq—ﬁa%qm 7R S3 E1 A, B 16. Seven persons are sitting at a dining
SN SIE NI F CHIRau D F e table. A is facing B who is to the left of
2-C,E% R A3 F, D % a1 31 7| Candrightof D. Cistotheleftof E. Fis
E o G TR o7 frfet sae o § totheleft of D. If E and G exchange their
A1 Ba D o e oot fRrfet sreet o seats and D and B also exchange their
HaeES TR I ? ’ seats, then who is sitting to the left of E ?
a) A a) A
b) B b) B
c) C c) C
d) D &, 0
o) T A g ~ ) None of these
Page No. 9
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1.

18.

968 ;>768ﬁ4ﬁW%mW%lW%

a)

O

)
)
)
e) T U g TRl

gﬁ,@ﬂagﬂmﬁﬁﬁmqﬁmﬁ?ﬁ%&
Ruguiwa o d 607« 24 3% 9

TR T 40 § § 32 3% W Ry pu
e 7of'r@ 35 1 60 H H 54 3T

o

3
2
1
0

(o}

Wﬁmﬁwﬁaéﬁﬁ 90 H ¥ 27 el -

50 H 9 45 mmmlmﬁwﬁw
a7eh e T 2

1.

18.

968 768 is divided by 4. The remainder is
a3

b) 2

c) 1

d o

le:) Noné of these

Mush, Kush and Bush each took part
in two tests in some examination. Mush
got 24 marks out of 60 in the first test
and 32 out of 40 in the second test. Kush
got 35 marks out of 70 and 54 out of 60
in the two tests. Bush got 27 out of 90
and 45 out of 50 in the two tests. Who
got the maximum marks ?

a) Mush

_b) Kush

c) Bush ,

d) Mush and Bush both
e) None of these

19. 15 GEul &l Arfedent 38 B Uk &A1 17 19. Median of 15 numbers is 38. A number
1 33 ° see fear | oifedent 17 is replaced by 33. The median
a) 16 =g swh a) Will increase by 16
b) 8 & we St b) Will increase by 8
) 18 5Ig STl c) Will increase by 1
d) ot it d) Will remain the same
e) 4 ¥ wig T e) None of these
20, freffan 583w @R B D Ao | 20 gﬁg v:::]z odd one out (if agy) from the
R y R, ;5 Gt eSS, Oxygen Nitrogen, Hyd:(;\g;r?/perOXIde
| TTEGI, P STRATHAIES MHydrogen Carbon ledee (9«7_,
a) TEERA a) Hydrogen
b) AT b) Nitrogen
c) TERSNH-TITFHEE ¢ Hydrogen-peroxide
d) FEH SIS ~d) Carbon dioxide
e) T U HE T e) None of these
CGP - 16— 02 Set-A
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21. 21, Find the odd one out (if any) from the
following :

HIEEEF Qﬁ?g q qq[f(aﬁ QF&E W(ﬂiafﬂfl s

B ) (\,\ §\B>\N|tnc acid, Sulphuric acnd Mercury,

ETEgRITE T, ?VSQ% %”\ Hydrochloric acid, Water

O\ Vv
a) 9N , Nl ‘23'\/ ,\‘_’J a) Mercury
b) TR Tfirs x& ' ob) Hydrochloric acid
: ~N
c) ort X7 c) Water
d) e wfre d) Nitric acid
e) T § HI Tl ' ,\Ié{None of these
22. ﬁﬂ%@ﬁﬁ?ﬁﬂ@;éﬁﬂ%@%ﬁ%ﬁﬁ% 22. Identify the number which is different
876, 885, 579, 696, 308 - from others in the fOIlOWing
a) 579 876, 885, 579, 696, 398
b) 876 a) 579
s | b) 876
' c) 88
d) 398
' ; 398
e) T ¥ =i | e) None of thesé
23. f=feifaa weei = TSEHI & FATTHR 23. Arrange the following words
. according to the dictionary pattern.
' .
nutant, nescience, nutrient, neutral,
nutant, nescience, nutrient, neutral, L : ’ '
) negotiate
‘negotiate
) nutant “ONIEE: - negotiate a) nutant, neutral, negotiate,
T & t o nescience, nutrient
nescience, nutrien

b) nutant, neutral nutrient . nuiant et sptignt,
nescience negotiat;a | neselemis; Redatian

c) nescience ’negotiate nutant €) nescience, negotiate, nutant,
nutrient nel,JtraI ¥ | ’ i, mentis)

d) neutral, nescience, nutrient, nutant, d) neutral, nescience, nutrient,
negotiate nutant, negotiate
wﬁqﬁgqﬁ ~€) none of these

CGP - 16 - 02+ Page No. 11 Set-A
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24,

et g2 v A ‘her idea has merit’ =
“fa lu boo ma’ ferEm ST B, ‘merit list

has been shown’ @ ‘go he lukija’ @em |.
‘name in merit list = ‘pa ya kho he’

IICISICIR- S
‘he’ forarer forg et @ 7
‘a) idea v
b) merlt
list
d) name

e) Sﬂﬁﬁaﬁé:@

25 AR6x7=2,3x5=55%x8= O?ﬁ

IxE5=7

a):5..

b) 4

c) 3

d) o
e)ﬁﬁﬁﬁéﬂ%"r

26qﬂ°faxﬂaésmﬁ?

27. Frafafea i sty &1 @ =afer Rk :

a) FETe

b) <t

c) ¥R
- d) F

e) T § i3 T

24.

In a code language ‘her idea has merit’
is written as ‘fa lu boo ma’, ‘merit list
has been shown’ is written as ‘go he lu

~ ki ja’, ‘name in merit list’ is written as

‘pa ya kho he’.

r e What does ‘he’ stand for ?

25,

26. .

27.

a) idea
b) merit

| \/e)/l ist

d) name

e) none of these
lf6x7i\2,3;5=5,5x8=’\0,then
Exnb ___375

5

b) 4
.€)3

d) 0

e) None of these
Furniture : Table : : Stationery : ?

a) Office

b) Chair
“Pencil

d) Room

e) None of these

Arrange the followmg in a meanmgful
order :

ks Pi
- i. Plan
o Tt i. Revise®)
e Pubnsh@
iv. FFFT : iv. Think @
¥ i%l@‘ e v. Write &
a) v, v, iil, ii; i a) v, iv, iil, ii, i
b) i, ii, iii, iv, v b) i, ii, iii, iv, v
c) iv, i, v, i, iii c) iv, i, v, i, il
d) ii, i, iii,iv,v i, i, iii, iv, v
e) T8 | =g & \/éﬁlone of these
CGP—16-—02*
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28. Tk fam ¥ frelt wrht ) gt et am T
g 7 T S T g o A forde e A
B ?
a) 20
b) 12
c) 24
d) 22

e) Eﬁﬁaﬁ'scqﬁ '

20. wH aMEt 270 R, B AT F O
- I ERT 3R S T HR FR a9 T 2 |

afe 78 g %‘HTTI 30 f.4). /9. R =

U R 99 AT & AN HI =0 45
.1, /4. 2, o ot I <t ofed =me B

a) 39%%.11%./‘#. _
b) 40 f&sft. /9.

0) 38; .. /.

d) 37-12-1%5.#1. /9.
) Eﬁﬁ@éq‘tﬁ

30. ARA, BY25% i¥er #amar®, 91 B, A¥
X% T AT ] | X 1AM B

&

28. How many times in a day the hands of

a clock one straight, pointing opposite
each other ?

a) 20
b) 12
c) 24

o

@) None of these

29. A man covers 270 km partly by bus and

1
partly by car. If he covers 3 of the

distance by bus at 30 km/h and the
speed of the car was 45 km/h, the
average speed for the whole journey
was

3

a) 39— km/h
S

b) 40 km/h

) 38-‘;- K/

"
d) 37 km

&) None of these

30. If A earns 25% more than B, then B
eamns X% less than A. The value of x is

a) 25 - ()5 '
b) . c/%x xq57 a) 25
) ',,\Joq,‘f b) 20
c) 15 WON c) 15
d) 10 @b‘< N d) 10
A 9 - v
e) 8 ¥ HI3 7 U7 ¢ _\{)_None of these
' il s ,
CGP - 16 — 02+ /% PageNo.13 ' ~ Set-A
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31. aRA:B=3:4,B:C=5:6,C:D=7:8 | 31. IfA:B=3:4,B:C=5:6,C:D=7:8
WA DR : thenA:Dis
a) 64:35 = = & 2} 84255
b) 3:8 %?L\\'Q, b) 3:8
c) 8:3 75% 0)8:3
-d) 35:64 d) 35:64
e) 37 © =g T _~2) None of these
32. A10BEHIAA 3R g20ay, 4 21 32. If out of 10 students 3 were of 20 years
3@??{%3%223@?8?3?;;@@%3?@% age, 4 of 21 years and 3 of 22 years,
) e N \ . the average age of these is
o]
a s a) 20 years
) 22 7
b) 22 years
6 2 aﬁ? 21 years
d) 19 =i : d) 19 years
e) T ¥ w1 el e) None of these
33. 'zrﬁiu Y uld s ue i R Z, Xwrafy | - 33. lfUistheépouseon,Zisthespouse
FmTeiE  XaR Y e E. 5 T 6 of X, X and Y are sisters, S is the wife
f T, X is the mother of T, R is the
‘k—vﬁ%xmﬁnm R TH gha,; Sl o e
_& Q i’ % ek R %T‘Fﬁ i’ daughter of T, W is daughter of Y and
X > WY it e e P, Y@T Tk P is the father of Y. Who is the mother
ny‘vwmaﬁq%? ’,\z\ @ of R 2 '
X* NN \//
gs O NG ) S
g ‘* e N O
\ b) T %%\@ &&Qy\/ b) T
R o) Y o o A o) Y
c, L\
< %» d) X N d) X
O y ¢) T Q Frs T “ e) None of these
34. I W 33 & IAlRSI & W, X ?ﬁ LS 34. With the data of Q. No. 33, who is grand
RIEIR " daughter of X ?
a) S a) s
b) R YR
c) Z c) Z
d) U S du
e) 3 ¥ &g 7l _ e) None of these
CGP - 16 — 02 Page No. 14 Set-A
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 35. U U@ 33 % AlHS F Y B Usm

35. With the data of Q. No. 33, who is

R 7 father-in-law of U ?
a4 a) P , P

b) Y b) Y

c) W c) W

d) T T

: , « =
e) 3T 4 =S 7 N A /f’(\h ~e) None of these
D NI

fdwr (v 36 - 39) Y 7 \?/ Directions (Questions 36 — 39) :
s m;i‘;'”@a‘i’r‘a ;’ R DAk ¢ | ltis giten that five cinema halls A, B, C, D

AD% 1 Ffel WHY ) B E ¥ ek i
4T, W2 D, B % ufm § 3 . 2
C, A% afmr 2 ., R | q}% |

ﬁw%ff@amasﬁw % % I AR |

and E are situated in the following manner :

Ais 1 km. to east of D. B is 4 km. south to E.
D is 3 km. west to B. C is 2 km south to A.

Answer the following quesﬁons 3610 39:

\s
36. Eqfrmfrdt. mDR? © 36. How many km. away is D from E ?
a) 2 p\‘é“\":\\@ Eﬂ) . a) 2
b) 3 ) " YN b 3
c) 4 8 c) 4
d) 5 e AT~ )
e) T ¥ I3 T XZZ Jéﬁuione of these
S 3
37. qﬁq@ﬂqﬁ:ﬁmgﬁ@g"[tjﬁﬁﬁ% 7 37. Which three cinema halls are in the
: same line ?-
a) A,DAaTE
b) B, CqaT E g DEnE
I, b) B,Cand E
c) A,B @D +__6yA, Band D
.58 w0 d) A, BandC
e) T | &S 7l

38, @%"Wﬁ-ﬁfﬁﬁéﬂﬁh%ﬁmmﬂ nwﬁ
FAR?

e) None of these

38. Of the three cinema halls lying in a
straight line which one is in the middie ?

a) B ay B .. .

b) A M

C) D C) D

d) C ‘ d) C

&) ¥ | i 7l e) None of these
CGP - 16 - 02+ Page No. 15 .
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39, ¥ 3 e R F 7

a) AB9 AC
b) AB3a AD
c) BCaCD
d) ABSCD
e) T ¥ I T

AO, TR A T U ST R
o 2 ooft =T o # |
fred:

| @l SR S E |

— JefidmergE

PR i d s wEd R Y
a) e | ot
DEESIE:HES
c) Bl 1T Il wdt ]

d) 7 leiT TR
e)sqﬁﬁaﬁé?%c’f

a1, i R e, R, wim, g6,

39.

+40. Statement 1

Which of the two distances are equal ?
AB and AC.
by AB and AD
c) BC and CD
d) AB and CD

e) None of these

. All apples are
pineapples. ;
Statement 2 : All pineapples are
grapes. ~

- Conclusion :

l. All grapes are pineapples.
Il All apples are grapes.

,_V\"fhich of the following is correct ?

a) -Only | follows

Only I follows
C) -)Both | and Il follows
d) Neither | nor Il follows
e) .None of these

41. Five students Mahendra, Jitendra,
St ‘ SR Dharmendta, Surendra, Narendra
ez 7 et A & wr foram) e 3 e “participated in a race. Mahendra
Y e AT wilz % we g WA | R completed the race before Jitendra but
3 s ¥ o1g Afe W @ Ted S @ after Dharmendra..Sur%ndra completed
£ | T ﬁ LT T ¥ waererr?grz. after Jitendra but before
a) uiE I W ‘ In the first position and the last position -
5 are respectively
b) 7R - a) Dharmendra and Narendra
c) WER d R b) Narendra and Dharmendra
d) g 7 Rros c) Mahendra and Narendra
‘ d) Dharmendra and Jitendra
¢) A T | ~ e) None of these
42, Trerfafaa T 7 % TUW WHN W AR 42. Which letter will replace ‘7’ in the -
AT ? : following ?
A?FJOUB A?FJOUB
a) B a) B
b) C b) C
¢) D c) D
~dy E d) E
o) T Y HE T e) None of these
CGP - 16 - 02 - ~ Page No. 16 ~Set-A
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43, TH F UTH UH AR e 7 R 43. Ram has a rectangular plot which has
300 Ht, &= 9R § 94U W% Ffe s, : been fenced with a 300 m long wire.
HeE | @ A, & e at'mé Find the length and the breadth of the
iﬁ:cﬂé w7/ 5537% g plot if the length is twice its width.

b) __100-;ﬁ B__so.;ﬁ b) L=}100m,B=50m
¢) L=20 #., B =10 . c)L=20m,B=10m
d) L=60 ., B=30 . d) L=60m,B=30m
e) T q IS el e) None of these |

44, 60 g3t ) wh gEe § n ufwEt g gs 44. A 60 pages book has n lines per page.
2, At dfrei A ven 3R A T If the number of lines were reduced by 3
731 1 wear 10 g 9T ®, 99 n F A then the number of pages go up by 10.
m ' " s The value of n is equal to

a) 30 a) 30
b) 22 b) 22
¢) 31 c) 31
d) 12 d) 12
e) T & 1§ T : e) None of these

45. 1% T 18 et T g1 7, 98 39 45. 'Seema has 18 meters of cloth. She
T VR HIAT Al ® TR T gl g *_ wants to cut it in two pieces in such a
TS W 4 Wi s 7, @ B g A way that one piece will be 4 meter
TS 91 'Y ? ‘ longer than the other. What will be the

a) 7. , length of the shorter piece ?
. 7 meters

o gg, b) 9 meters

o) 2. c) 2 meters

d) 8 tﬁ ' ) 8 meters

e) Tl & g Tl , e) None of these

46. IfqdF 49 F UF TM AT AT &. 18 8 31N © 46. If the cost of three apples and five
uig 89 5 91 ama;rrgqs, 143, @ uf= mangoes is Rs. 18 and that of five
Tl T god B ‘ \& apples and 3 mangoes is Rs. 14, then
a5 o 45 55 ”’/‘ N the cost of five apples is equal to

£ ' e 2 «d) Rs.5
) % 10 < b) Rs. 10
c) . 4 c) Rs. 4
d) %6 d) Rs. 6
e) T ¥ F1E Tl : e) None of these
: Page No. 17 .
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47. Fffad 3 g« g @ 47. The missing number in the following -

76 85 78 76 85 ) 78 \gf
3819 [114] { 51|17 [119) | 85| ? [117 38[19 [114) (51[17 [119) | 65] 7 17
133\, 153 156 : 133 153 156
a) 5. is 9 -
'b) 17 : a) 15 |
b). 17 |
c) 19 | |
-¢) 19

ebhaicy: _ d) 1 - |
e) Eﬁﬁ@é:@ \/me of these ;

- 48. T quT AT % w wg ¥ W ) g 48, In a group of cows and hens, the

ﬁﬁﬁﬁﬁ@r%?ﬁ{ﬁﬁ 14 11 off| number of legs was 14 more than the
Tnzﬁﬁa@mﬁ /\,\ twice of the number of heads. The
_ g0 \)5 *)/number of cows was
A B Clw”
A% AN a) 5
b) 7 .
. A(«\\b\ f/\\/\ \/b)/7
- C) 10 A(_p_/ ’\b\'W ¢ 10
d) g S d) 14
¢) T ¥ g e \"\2/@ e) None of these
49. TF e H 5 1 Rydew, 1970 = 73T 49. A girl was born on September 1, 1970
ot fore o wirerame ol msmﬁ:rmaaﬂ which happened to be Tuesday. The
S W next birthday will be Tuesday in the
year
_a)‘1975ﬁ 7 ’ | ) 1975
b) 1977 & i 2 \bj/977 :
c) 19814# : ) c) 1981
d) 19827 - d) 1982
e) T8 ¥ F1 T : ' e) None of these

CGP - 16-02+ . > Page No. 18 : Set-A
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O O O G | ‘7\{40 o
G A

s
et e 50 3R 51 B R Frdw: O
' 3¢
e ¥ et s a1 T e B B

T X 2,50,000 8 | Fwea ", A9, WefAl Al
wen , Torgot S forsred ot Tt et Seare

T <kt e o o @ e e e ®
| \o \a‘q’
‘ X o \\’\99’

J

\"} 7%

Direction regarding Q. No. 50 and 51.

The total cost of producing. plastic toys is
¥ 2,50,000. The production cost on raw
material, labour, repairing of machines,
advertisement and electricity is shown by
the following Pie-chart.

W .
"7 Repair of
50. 38 9 3 & snur W el w armE ® 50. On the basis of this Pie-chart the cost
a) 3 12,500 on electricity is
b) ?25’00'0 - -a) ¥12,500
&) % 15,000 ) 225000
: ’ ' c) ¥ 15,000
d) ¥ 18,000 d) T 18,000
e) ¥ & g T e) None of these
51. TR W e A TEiE ) T W 51. How much the production cost on
ara 8 rafi e 7 advertisement is less than that on
a) % 25,000 repairing of machines ?
’ a) T 25,000
b) ¥ 37,500 ‘
, . b) % 37,500
9710000 ’ ¢) % 10,000
d) T 12,500 d) T 12,500
) 34 § I3 & e) None of these
CGP-16-02= Set-A
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52. X, WHresag Y, Vvafime |1 X, zHh
- ThiwEfRz vy a Rl v, W
TER W, Y ¥ e v e R 7
&) I (32 IAwA
b) o= '
c) g
d TAE
e) T ¥ T e

53.7.’5&75?333,@@386&14?@31@%55{
Ao Td ot | Fu R 3T AT W AU

1 43 a@wﬁm@mﬁa:ﬁ%? N
b) 4299 - o

c) 4374 f.\

d) 36a¥ @

e) T & =g T »

54. T ‘COMPREHENSION’ ¥ worm d

5 ) gere o ST @ qun o sifw
i e sire Ty o § s qa Wi s g |

T8 ! gere L STE st e, a}nqv@m

52. X is sister of W. Y is father of V. X is

daughter of Z who is marriedto Y. V is
brother of W. How is W related to Y ?
a) Data inadequate
b) Son - :
Daughter
- d).Son or daughter
e) None of these
.53, é years ago, the combined age of
Suresh and his mother was 40 years.
Now the ratio of their ages is 1 : 4. How
>/ ¢7 old is the mother of Suresh ?
“ a) 38 years
. b) 42 years
c) 43 years
d) 36 years
/eT None of thes‘g@gy G \QJ)
: 1"\0
54. First three Ietters of the word

‘COMPREHENSION’ are reversed and
then last three letters are added and
then the remaining letters are reversed

CGP-16- 02«

AT e e

? and added, then which letter will be
A 1 Srer 3 ~exactly in the mlddle ?
b) S D) S
c) E c) E
.0 - ' d) O
e) = q =d T e) None of these
55, frfafaa § 77 % M W A 91 1R 55.° Which letter will appear in place of ‘?’
DT  inthe following ?
D,F,L7,N,P < D,F,1,?2,N,P
ot Elo oL
d) M : *d) M
e) T @ =g 7 | vi,e')/N'one of these
Page No. 20
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srata, T A = 2 7 3
H,F,A N, E K
- -a) F

) E

c) K

d) A

e) T8 § whis gl

57. 9wk grafae 3w fean 2
e : fhem (98 y-3m ®)

wﬁqnﬁmwﬁﬁqnﬁwm

d &

?ﬁ%m:ﬁ,maz‘é@as,
TroTesh. ; hRRT, FHT : §gs, e : e

I8 I BT (A 78 1) SN o6 o I
&

WWWW%I

)
)ﬁ’a; 'QJ\\S\I\\‘
}/
i & % 7
Ml Qe
ﬁévr(:mss-soaz/ Q,i? ,

ERIRRERS ‘ﬂ@%mamﬁ WCﬂT{{Eﬁ%I
T, W@ @ & ad ad ] | W, L a e
S $ | TRl e Q. A AR | R, Tt
T A @, rA A el S R |

58, Frefifan § S @1 wed %7 5 A TR

IR TR EIR 7
a) i—{\"%@L m7 U@’ fl’@
b) fig, e, ®E, @, 1
o) g, Yan, e, ¥, e
d) &, 1, T, e, g
e) 3 | I3 I

SN\
«'\f‘ e

- 56. Which one of the following figures is

different from others in accordance with
some rule ?

H,F,A,N, E,K
~a) F

b) E

c) K

d) A

e) None of these

57. - Below is given a related pair of words :
Director : Film (This is question pair)
The above pair is followed by the
pairs given below :

Poem : Poet, Novel : Writer,
Editor : Magazine, Chair : Carpenter,
Wheat : Farmer.

Choose the pair (if any) that best
expresses the relationship similar to
the question pair.

a) Poem : Poet

b) Novel : Writer

c) Wheat : Farmer

d) Chair : Carpenter
e) None of these

= QoL

\v\

Direction (Que. 58 -60) :

It is given that all the girls are of the different

e%% and u is one year older than
a. Re na is two years younger to
Renu Rakpt is one year younger to
Rehana. Ritd is two years younger than
Rakhi. is two years older than

Rekl'\
- Rakhi. A C/-——-P - &,
58. Which ofthe TéHlewing is the order from
- the youngest to the oldest ?

a) Renu, Rekha, Rehana, Rakhi, Ritu
Mm{u,ll;lakhi, Rehana, Rekha, Renu
c) Ritu, Rekha, Rakhi, Renu, Rehana
d) Rehana, Renu, Rekha, Rakhi, Ritu

e) None of these

CGP - 16 — 02
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59. Y au Tl i w3
| T | e §
I. %@aimﬁagﬁw%w%l
I, Y <6 39 1 A R
a) e | TA R |
b) e | TR |
c) Tt g |
DREL R
e) 3T | g Tl

60, TH 3N TEH T, U TElHA & A
ot B S 2 | e 39, ool et A,

T s @ fr ? | sueh 3p % R d
Rrerferied o & F o1 FUF G R A @ ¢

|, wfr, W& %9 3y T qor e A
gl 2

I =f, TE & B e g @ B
fil. %ﬁ: T 2 S dun TEl @ W R
IV, B%,U@@@ﬁﬁami{ﬁasﬁ%l

a) sad ll

b) sl

c) ad IV

d) F=al

e) 378 ¥ HIE &l

61. Qaﬁwmwﬁwmgﬁ,mﬂ%ﬁﬁ

&

59. The combined age of Renu and Rakhiis
. An odd number.

Il. Equal to the combined age of
Rekha and Rehana.

lll. Twice the age of Rekha.
a) Only lis true

b) Only llis true .

¢) Only lllis true

d) land Il are true

e) None of these

60. One more girl Ruchi joins the group of
5 girls. Her age, in complete years is
different from other girls. Which of the
following statements about her age
could be true ? .

I. Ruchi is younger' than Renu but
older than Rekha.

Il. Ruchi is younger than Rakhl but
older than Ritu. ;

1. Ruchiis younger than Rehana and

"~ older than Rakhi.

IV. Ruchi is younger than Rakhi and-

older than Renu.
a) Onlyll
" b) -Only il
' c) Only IV
d) Only |
e) None of these

61. Introducing a mén, a wdman said, “his
father-in-law’s father is my father-in-

T, e & g TR wrEtEd ® 7 law.” How the man is related to the
‘ wom
. @) W a) Son-in-law
b F b) Son
c) # c) Mother
d) @& " d) Mother-in-law
e) T @ g T e) None of these
CGP -16—02+ Page No. 22 Set-A
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vt (19 62 — 66) >
Frfafas geamsi &1 v w5 JE & N
difsre
. T TR A1 T 78 =Re E, F, G,
HLJKanLsmywra s e fF

i gige § @) SufEd © |
ii. 1 AR gew 8 qA S U W F
S-S T8 93T R |

ji. J, LA F& iRy

v. G laFHfadg |

v. JHT 1R gE TIH R AR H 3 3 |

vi. Hfee ges E%mmﬁgmw F
SeIR

vii. F 3R | & = 1 T ke o3 1 |

2. MU THdH AR ge & ?
a) E, HaJ
b) E, G3RJ
c) G, HaRJ
d) F,G 3fRJ

e) T ¥ &5 T

63. J % fma d Freffen H A A we d ¢
a) J T uite uee 2
b) J T JE HEE ?
c) J = fom Feriver 7= T s wepan
d) Jaﬁf@xﬁq‘aﬁmﬁmm
e) ‘aﬂﬁﬁrﬁé:@

54, FeTET g d ®H EWH%ﬁaﬂaéa%?
a) G
b) J
¢) F
d) K
e) 398 ¥ 3E =l

irection (Question 62 — 66)

Study the following informations to answer the
questions given below : :
i. EightpersonsE,F,G,H,I,J,Kand

L are seated around. a square
table, two on each side.

ii. There are three lady members and
they are not seated next to each
other.

iii. Jisbetweenl andF.
iv. Gis betweenlandF.

v. H, alady member, is second to the
left of J.

vi. F, a male member is seated
opposite to E, a lady member.

vii. There is a lady between F and .

62. Who among the following are the Iady
members ?

a) E,Hand J
b) E,GandJ
c) G,Hand J
d) F,GandJ
e) None of these

63. Which of the following is true about J ?
a) Jis female member
b) J is a male member
c) SexofJ cannot be determined
d) Position of J cannot be determined
e) None of these

64. Who among the following is seated
between Eand H ?
a) G v
b) J
¢ F
d) K
e) None of these

CGP -16-02= Page No. 23 ' Set-A
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65. Fefaead @ Fé;aﬁasmiaﬂtﬁﬁ?r% ?

a) |

b) J

c) L :
d) 3 Y e 1 e
e) 3 ¥ &iE T

66. KR F&ofw i safra3 8 7

a) 1
b) 2
03
d) 3ra = o 5 weRa
e) T O FE &

67. szrﬁwﬁaﬁr%nasooﬂi /8.2 | foret worm

W TF e 30 W FH 5 AFUE TR
g1 St ge St St w6 IS %
T T § | S safwe % oS it
qT ~FAH gl 8

a) 1.8 .4, 0.15 f.Hi.

b) 2.2 f .., 0.20 B,

c) 2.8 fr.ft., 0.25 fo. =t

d) 3.3 f%.dt., 0.3 %A

e) 3T | 1 el

68, Frfafas frel &1 TS F B

)

i)

| w

~

&
3

ol |

8

-

Lo
A ols 0|0 0l

-

win wln

Q.
St

4] Wi oS 0|

1
et

b

|

65.

66.

67

68.

Who among the following is immediate
Ieft of F? :

“a) i

b) J

crk

d) Cannot be determined
e) None of these

How many persons are seated between
Kand F?

a) 1

b) 2

c)-3

d) Cannot be determined
- e) None of these

The speed of sound waves is 300 m/s.

~ At a place a person hears the sound

produced after 5 seconds while another
hears the same sound after 6 seconds.

The maximum and minimum distances
between the two persons are

a) 1.8km, 0.15km
b) 2.2km, 0.20 km
¢) 2.8km, 0.25 km
d) 3.3km, 0.3km
e) None of these

The ascending order of the following
; 2 4 3 1.
fractions —, —, —, = is

CGP - 16 - 02«
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69. Hﬁ'4;><Y:’;=9,?ﬁx3:ﬁIya5W§

- 69.

o . |
If 4;><y-7-=9, then the values of

x and y are given by

.Page No. 25

a) x=2,y=5
b) x=5,y=2 =2,y =5
b) x=5y=2
Cc) x=2,y=9
c) x=2,y=9
d)x=.;y§1 . .
o) ¥ FR T e) None of these
70. w@ i frg TRY 7R @ff T 19 70. Assign correct mathematical S|gns and
RIS find the missing figure.
zr%4453-2=17 H 4582 =17
5 o 8372=27
A 6247 = then6 2 47 =7
a) x,+-;9 f oo
S b) + x,—-;7
A %, =57
_ ‘ Cc) -, X, +;5
6) =% +i5 d) + -, x:20
d) +-x;20 e) None of these
e) ¥ 9 whI§ T
71, ©F e T ™ A @ TR B E) 71. A man goes from a place A to another
SR | 97 3l & 50 fRa. /6. = place B. He covers half a distance at a
Y e 9 aTeh 70 R /6, EIR IR Re il ' speed of 50 km/h and other half at a
AT | et AT frga =@ 2 -~ speed of 70 km/h. His average speed
for the whole journey is
a) 56 T4, /5.
a) 56 km/h
b) 54 .50 /4. b) 54 km/h
60 f&.#f. /5. 6) 60 km/h
d) 65 fr.aft. /4. d) 65kmh
e) T A I Tl e) None of these
CGP - 16 - 02
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'72. 4 123 €T 987 I AUT 426 HEA1 684
=1 et e &, @ 234 i W
a) 78538 P
b) 586 !
c) 768l
d) 876
e) 3T & w18 T

73. qlE N eF RulawA w7

75 If 123 stands for 987 and 426 for 684,

then 234 stands for
a) 785
b) 586
c) 76
876

e) None of these

73. Which number in the die is

opposite 6 ? =L
2 3
6 1 L. = / |
3 5 6 1
3 5
a1 a1
b) 4 b) 4
c) 5 0) 5
d) 2 ﬁf
o) ¥ A ﬁé qﬁ | ‘Véﬁlone of these
74, A%2+4+6+8+...+80=8,SH 74. 1i2+4+6+8+...+80=8 thenthe
3 ' value of S is
). 1460 a) 1460
b) 1580 b) 1580
c) 1640 . c) 1640
~d) 1680 d) 1680
e) T 9 is 7l e) None of these
75, fmfafea éﬁa £l z;ri%q 75. Find the odd one out in the following
17'2/15\%9“?51 30, 41 - 17,19, 29, 31, 39, 41 '
a) 29 a) 29
b) 31 y*
¢) 39 ) 39
d) 41 d) 41
e) 37 ¥ SIS & e) None of these
CGP - 16 — 02 Page No. 26 Set-A
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76. TorEll wTet H, Tk et #, Hied Tl
HRI 9 TH A EaTeh geleTell @) Hen
SUNT: 40, 50 9 60 off| 37 21iwel i U
@ ¥ vefdfa o smar 81 w1 g en
el gelerati sl gwia At Rt w5 e
FHTFTE ?

a) 150°
b) 120°
¢) 100°
d) 50°
e) ¥ ¥ =i

77. 20 =8 ¥ 60 I A W F =fFE w1
STORTRAT e 56 YR R
g 60w 50w 40w 30=d 20w
[ T T dw
=@t 60 50 40 30 20
= T
soﬁssaé%aq—aﬁ%wfﬁa‘raﬁw
e R ?
a) 30 935 % uey
b) 10
c) 5 :
A Feifia & it s gt
e) T ¥ FI3 T
- 78. T=fafea aoft § W@ ‘4 fe ¥, R
' gquﬁ‘f%ﬁsagmmﬁ‘s’qa%?
9876543217425867461234742356

. 76. In a city, there were 40 accidents,

50 accidents and 60 accidents in a time
period involving motorcycles, cars and
trucks respectively. This data is
represented by Pie diagram. What is
the central -angle of the part
representing accidents by cars ?

a) 150°

b) 120°

c) 100°

d) 50° .

e) None of these

7% Frequency distribution of the persons

' between the age group 20 years and
60 years is given as follows :

" Age -+ Upto60 Upto50 Upto40 Upto30 Upto20

yrs yrs yrs . yrs yrs

"No.of & 50 0 20

Persons

What is the number of persons within
the age group 30 and 35 years ?
-a) Between 30 and 35
" b) 10
€) 5
. d) Cannot be determined
; e) None of these

- 78. How many such ‘4’ are there in the

following series, which is immediately
, preceded by 7’ but not immediately

followed by ‘3’ ?
74308744 . 9876543217425867461234742356

a) 2 74308744

b) 3 a) 2

c) 4 b).3

d) 5 c) 4

: ‘ d 5 ;
e) T ¥ i Tl e) None of these
CGP - 16 - 02+ Page No. 27 | e
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79. W52 ‘DELHI'S 7ard & 0 R woe

1S | FHHAR A 5% A T 231 ® H
38 RO o fa nﬁmm@ﬂa“r

/

79. How many words (with meavning or

awqﬁm B?inﬁ?) Wmﬂiﬁﬁ%ﬁ 3TER without meaning) can b‘e formc,a‘d V*{ith
‘e e the letters of the word ‘DELHI" which
= begin with the letter ‘E’ ?
a) 5 a) 5
c) 12
d) 24 | g
&) T & B Tl dped
‘ : &) None of these
| k80 q[-;. 1.5x = .05y, T_ wamFnme? | 80. If1.5x=.05y, then what is the value of
' -X
b) S RN AN & ] a) .935
¢) 735 R 555 b) 835
) 635 \' ¥ o ras
d) .635 ,/df
; . 635
e) T ¥ i3 7 » ‘
) e) No f these
0 4\% § s o |
81. forem 7 foreft o 1 25% w1 wfea 81. Kishan sells an article to Kamal at a
a¥g :
&1 ST A - T T 10% T T HTA - profit of 25%. Kamal sells it to Kamlesh

at a profit of 10% and Kamlesh sells it
for Rs. 231 to Karunesh to get a gain of

5%. What is the cost price at which
ED| FR? 0
ﬁa}ﬁ;gofaw ? \/(7 ks Kishan bought the article ?

o: 1o a) Rs. 180
A / WZJ//K& vbﬁ;: 160
i 1:8: c) Rs. 140
d) Rs. 120

e) T4 E g T

82. 4.867mM,5.697M™,5.127M,4.71 TM,

e) None of these

82. The average of 4.86 gm, 5.69 gm,

4.94 7 371 5.04 T F1 FN 5.12gm, 4.71 gm, 4.94 gmand 5.04 gm s
a) 4.697™ Ao ;\.%‘0 o a) 4.69 gm
b) 4.59TT : WO b) 4.59 gm
. ¢) 4.967m i ) 4.96 gm
o) 446 7 7‘7/9’47% d) 4.46gm-
/ef)/ T ﬁ ?*3'3; T /5€3~ None of these '
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83. v fonelt firel % ofw # 4 Sl S B, d
il = AT | ey
' ) W™~
a5 e;aﬂ
‘'b) 3
c) 4
d2
e) 3T A i3 e
3/4 h | -%\‘/\
- 84. (16) éﬁrmq% \&)
a) 12 :
b) 16
c) 48
d) 8 o
e) 30 @ =18 &
85. afk 41 wigpail <t Sreird it oTwE 1: 3
YT 3Tk SATE I U 3 : 5 2, 6 T

83. Wheh the numerator of a fraction is
increased by 4, the fraction increases

by 3 What is the denominator of the

fraction ?

d 2
e) None of these

84. Value of (16)%4is
a) 12
b) 16
) 48
d8s
e) None of these

85. If the heights of two cones are in the
ratio of 1 : 3 and their diameters are in
the ratio 3 : 5 ; the ratio of their voiumes

- STRIH 1 ST € (\s&\“ will be
a) 3:25 s a) 3:25
b) 9:16 Sy b) 9: 16
c) 8:25 i _.,S'..l7 c) 8:25
d) 9:25 d) 9:25
© e) T § wE & e) None of these
86, TSI 3 40@%@53‘13‘%3@%13’% 86. At3:40 hrsthe hour hand and the minute
o1 fore et g8 % e hand of a clock form an angle of
a) 110° > L
b) 120° : Vo b) 120°
o) 140° ¢) 140°
d) 130° d) 130°
\{gg A B = e) None of these
CGP ~- 16 —02
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87. “Toreemt i Sfifer &Y saam@g%w%m
Trefen ¥1eq 7
a) fawar
REER
o)
d) &=
e) ¥4 ¥ ig &l
98, % v e s SRR
o) ‘
b) 3w
c) frxft
A T
o) FHATE T

89. T A FRERI H R 7
a) wfe e srerli o v el v
FTAEE
) i & v e R
o) fY =1 o1 R srevma T
d) fr 21 i =1 o g
o) i &

90. Friferfied & B o135 ¥ sy |
&) IFfER |
c) STE
d) I

e) 34 8 IS I

o1, ‘nfer TR AFH IR ?
a) |
b) uf
c) femr
e) 3 ¥ wis Tl

92. ‘d=mw’ yee H wH IuEi g 7
a) uq
‘b) ¥

AL

© d) Tm

e) T4 § &3 T

193, Trifea # ‘mgy’ 1 dovE w9 R

- a) 7R
by
¢) W
dFm
e) T8 ¥ =1 7
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94. Ffafge & @ =l ~|1 ¥oq SHRIFA 98. B W egaE A Y
S () TR 7 '
a) ¥ B4
a) &
b) & b) wsst B
C)_gj o) 38
d) =f
ey T d) S S
95. “‘gran R s ) welteTel ¥ @ e) T A S el
FEAE? |
& S~ frr 99, frferfa § & FM-a vz Gy T
b) TRI-ST7eR el T ® 7 '
c) T sfie
' a) 3
d) -7 ‘
) ¥ | IS et b) w3
96. ﬁﬁ%@ﬁﬁéwwﬁgﬁél c) Sim
a)a'aﬁqasmrﬁ.m%*’ -
b) S FmH A TET
\/zumzﬁsma?ﬁmwﬁm%ﬁm e)
W@
ﬁmﬁﬁﬁmﬁﬁaa - 100. Fefoifed § & sded “gea’’ TamEy |
e) 3T ¥ %1 T ' |
: a) T T -
97. "I’ w FEE v
LAy I L
b) T o) i
c) JIBU .
d) @mEn
d) J=RiE )
o) TH A B A e) T ¥ F1E T
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